Int. J. Open Problems Compt. Math., Vol. 11, No. 4, December 2018 ISSN 1998-6262; Copyright ©ICSRS Publication, 2018 www.i-csrs.org

Some Inequalities for Derivatives of the Generalized Wallis' Cosine Formula

Kwara Nantomah

Department of Mathematics, Faculty of Mathematical Sciences, University for Development Studies, Navrongo Campus, P. O. Box 24, Navrongo, UE/R, Ghana. e-mail: knantomah@uds.edu.gh

Received 15 May 2018; Accepted 24 June 2018

(Communicated by Li Yin)

Abstract

In this work, we study some properties and inequalities involving derivatives of a generalized form of the Wallis' cosine (sine) formula. In particular, log-convexity, monotonicity, subadditivity and subhomogeneity properties of the generalized function are discussed.

Keywords: Generalized Wallis' cosine formula, log-cosine function, log-convex function, subadditivity, inequality.

2010 Mathematics Subject Classification: 33Bxx, 33B15, 26D20.

1 Introduction

The classical Euler's Gamma function is usually defined as

$$\Gamma(x) = \int_0^\infty t^{x-1} e^{-t} dt$$

for x > 0. Closely associated with the Gamma function is the digamma or Psi function $\psi(x)$, which is defined as the logarithmic derivative of the Gamma function. That is,

$$\psi(x) = \frac{d}{dx} \ln \Gamma(x) = \frac{\Gamma'(x)}{\Gamma(x)}$$
$$= -\gamma - \frac{1}{x} + \sum_{n=1}^{\infty} \frac{x}{n(n+x)}$$

where $\gamma = \lim_{n \to \infty} \left(\sum_{k=1}^{n} \frac{1}{k} - \ln n \right) = 0.577215664...$ is the Euler-Mascheroni's constant.

The function

$$I_n = \int_0^{\frac{\pi}{2}} \cos^n t \, dt = \int_0^{\frac{\pi}{2}} \sin^n t \, dt = \frac{\sqrt{\pi}}{2} \frac{\Gamma(\frac{n}{2} + \frac{1}{2})}{\Gamma(\frac{n}{2} + 1)},\tag{1}$$

where, $n \in \mathbb{N} = \{1, 2, 3, 4, ...\}$ is well-known in the literature as the Wallis' cosine (sine) formula. See for instance [1, p. 258], [5], [8] and the related references therin. It may also be defined as

$$I_n = \frac{1}{2} \frac{\Omega_n}{\Omega_{n-1}} = \frac{\pi}{2} W_{\frac{n}{2}} = \frac{1}{2} B\left(\frac{n+1}{2}, \frac{1}{2}\right), \quad n \in \mathbb{N},$$
(2)

where, $\Omega_n = \frac{\pi^{\frac{n}{2}}}{\Gamma(\frac{n}{2}+1)}$ is the volume of the unit ball in \mathbb{R}^n , $W_n = \frac{(2n-1)!!}{(2n)!!} = \frac{1}{\sqrt{\pi}} \frac{\Gamma(n+\frac{1}{2})}{\Gamma(n+1)}$ is the Wallis ratio [10], and $B(x,y) = \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)}$ is the classical Euler's beta function.

The Wallis' formula and its related functions have been studied intensively by several researchers. Notably are the recent works [4], [9] and [11], where the function was applied to study some properties of a sequence originating from geometric probability for pairs of hyperplanes intersecting with a convex body.

In 1956, Kazarinoff [6] generalized the Wallis' cosine formula as

$$H(x) = \int_0^{\frac{\pi}{2}} \cos^x t \, dt = \int_0^{\frac{\pi}{2}} \sin^x t \, dt = \frac{\sqrt{\pi}}{2} \frac{\Gamma(\frac{x}{2} + \frac{1}{2})}{\Gamma(\frac{x}{2} + 1)}, \quad x \in (-1, \infty), \quad (3)$$

where $H(n) = I_n$ for $n \in \mathbb{N}$.

In a recent work [7], the author studied some properties and inequalities involving the generalized function (3). In this paper, our main objective is to derive some inequalities involving derivatives of the generalized function. In doing so, we study some special cases, log-convexity, monotonicity, subadditivity and subhomogeneity properties of the generalized function. We present our results in the following section.

2 Main Results

By differentiating m times of the generalized function (3), we obtain the more generalized form

$$H^{(m)}(x) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^m \cos^x t \, dt = \frac{d^m}{dx^m} \left\{ \frac{\sqrt{\pi}}{2} \frac{\Gamma(\frac{x}{2} + \frac{1}{2})}{\Gamma(\frac{x}{2} + 1)} \right\},\tag{4}$$

for $x \in (-1, \infty)$ and $m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$, where $H^{(0)}(x) = H(x)$. In particular, if x = 0, then we obtain

$$H^{(m)}(0) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^m dt = C_m,$$
(5)

which is known in the literature as the log-cosine function [12]. It follows swiftly from (4) that

- (i) $H^{(m)}(x)$ is positive and decreasing if $m \in \{2k : k \in \mathbb{N}_0\},\$
- (ii) $H^{(m)}(x)$ is negative and increasing if $m \in \{2k+1 : k \in \mathbb{N}_0\}$.

Furthermore, from definition (4), we derive the following few special cases.

$$H^{(0)}(0) = \frac{\pi}{2},\tag{6}$$

$$H'(0) = \int_0^{\frac{\pi}{2}} \ln \cos t \, dt = -\frac{\pi}{2} \ln 2, \tag{7}$$

$$H'(1) = \int_0^{\frac{\pi}{2}} (\ln \cos t) \cos t \, dt = -1 + \ln 2, \tag{8}$$

$$H'(2) = \int_0^{\frac{\pi}{2}} (\ln \cos t) \cos^2 t \, dt = \frac{\pi}{8} - \frac{1}{4} \ln 2, \tag{9}$$

$$H''(0) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^2 dt = \frac{\pi^3}{24} + \frac{\pi}{2} (\ln 2)^2, \tag{10}$$

$$H''(1) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^2 \cos t \, dt = 1 - \frac{\pi^2}{12} + (\ln 2 - 1)^2, \tag{11}$$

$$H''(2) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^2 \cos^2 t \, dt = \frac{\pi}{4} (\ln 2 - 1)^2 + \frac{\pi^3}{48} - \frac{3\pi}{16}, \tag{12}$$

$$H'''(0) = \int_0^{\frac{\pi}{2}} (\ln \cos t)^3 dt = -\frac{\pi^3}{8} \ln 2 - \frac{\pi}{2} (\ln 2)^3 - \frac{3\pi}{4} \zeta(3), \qquad (13)$$

where $\zeta(x)$ is the Riemann zeta function. Some of these special cases can also be found in [3, p. 531, 582, 585].

Remark 2.1. Some families of these type of integrals have been studied in [2] and as pointed out in that work, these type of integrals have a wide range potential applications in mathematical and physical problems.

In what follows, we present some inequalities involving the function $H^{(m)}(x)$. We start with the following well-known definition. **Definition 2.2.** A function $f: I \to \mathbb{R}$ is said to be logarithmically convex or in short log-convex if $\ln f$ is convex on I. That is if

$$\ln f(\alpha x + \beta y) \le \alpha \ln f(x) + \beta \ln f(y),$$

or equivalently

$$f(\alpha x + \beta y) \le (f(x))^{\alpha} (f(y))^{\beta},$$

for each $x, y \in I$ and $\alpha, \beta > 0$ such that $\alpha + \beta = 1$.

Theorem 2.3. Let $m, n \in \{2k : k \in \mathbb{N}_0\}, a > 1, \frac{1}{a} + \frac{1}{b} = 1 \text{ and } \frac{m}{a} + \frac{n}{b} \in \mathbb{N}_0.$ Then the inequality

$$H^{(\frac{m}{a}+\frac{n}{b})}\left(\frac{x}{a}+\frac{y}{b}\right) \le \left(H^{(m)}(x)\right)^{\frac{1}{a}}\left(H^{(n)}(y)\right)^{\frac{1}{b}},\tag{14}$$

is satisfied for $x, y \in (-1, \infty)$.

Proof. The main tool of this proof is the Hölders inequality for integrals. Notice that since $x, y \in (-1, \infty)$, a > 1 and $\frac{1}{a} + \frac{1}{b} = 1$, then $\frac{x}{a} + \frac{y}{b} \in (-1, \infty)$. Then by (4), we obtain

$$\begin{aligned} H^{(\frac{m}{a}+\frac{n}{b})}\left(\frac{x}{a}+\frac{y}{b}\right) &= \int_{0}^{\frac{\pi}{2}} (\ln\cos t)^{\frac{m}{a}+\frac{n}{b}}\cos^{\frac{x}{a}+\frac{y}{b}}t\,dt\\ &= \int_{0}^{\frac{\pi}{2}} (\ln\cos t)^{\frac{m}{a}}\cos^{\frac{x}{a}}t\cdot(\ln\cos t)^{\frac{n}{b}}\cos^{\frac{y}{b}}t\,dt\\ &\leq \left(\int_{0}^{\frac{\pi}{2}} (\ln\cos t)^{m}\cos^{x}t\,dt\right)^{\frac{1}{a}}\left(\int_{0}^{\frac{\pi}{2}} (\ln\cos t)^{n}\cos^{y}t\,dt\right)^{\frac{1}{b}}\\ &= \left(H^{(m)}(x)\right)^{\frac{1}{a}}\left(H^{(n)}(y)\right)^{\frac{1}{b}},\end{aligned}$$

which completes the proof.

Remark 2.4. If m = n in (14), then we obtain

$$H^{(m)}\left(\frac{x}{a} + \frac{y}{b}\right) \le \left(H^{(m)}(x)\right)^{\frac{1}{a}} \left(H^{(m)}(y)\right)^{\frac{1}{b}},\tag{15}$$

which is implies that the function $H^{(m)}(x)$ is log-convex on $(-1,\infty)$ if $m \in \{2k : k \in \mathbb{N}_0\}$.

Remark 2.5. If m = n and a = b = 2 in (14), then we obtain

$$H^{(m)}\left(\frac{x+y}{2}\right) \le \sqrt{H^{(m)}(x)H^{(m)}(y)}.$$
 (16)

Remark 2.6. If n = m + 2, a = b = 2 and x = y in (14), then we obtain the Turan-type inequality

$$H^{(m)}(x)H^{(m+2)}(x) \ge \left(H^{(m+1)}(x)\right)^2.$$
(17)

Corollary 2.7. The function

$$h(x) = \frac{H^{(m+1)}(x)}{H^{(m)}(x)},\tag{18}$$

is increasing on $x \in (-1, \infty)$ if $m \in \{2k : k \in \mathbb{N}_0\}$.

Proof. Let $m \in \{2k : k \in \mathbb{N}_0\}$. Then direct differentiation yields

$$h'(x) = \frac{H^{(m+2)}(x)H^{(m)}(x) - (H^{(m+1)}(x))^2}{[H^{(m)}(x)]^2} \ge 0,$$

which follows easily from (17).

Theorem 2.8. Let $m \in \{2k : k \in \mathbb{N}_0\}$. Then the inequality

$$\left(\frac{H^{(m)}(y)}{H^{(m)}(x)}\right)^{\lambda} \le \frac{H^{(m)}(\lambda y)}{H^{(m)}(\lambda x)},\tag{19}$$

holds if either $\lambda \ge 1$ and $0 < x \le y$ or $0 < \lambda < 1$ and $-1 < x \le y < 0$. It reverses if either $\lambda \ge 1$ and $-1 < x \le y < 0$ or $0 < \lambda < 1$ and $0 < x \le y$.

Proof. Let G be defined for $m \in \{2k : k \in \mathbb{N}_0\}, \lambda > 0$ and $x \in (-1, \infty)$ by

$$G(x) = \frac{H^{(m)}(\lambda x)}{\left[H^{(m)}(x)\right]^{\lambda}}.$$

Then,

$$\frac{G'(x)}{G(x)} = \lambda \left[\frac{H^{(m+1)}(\lambda x)}{H^{(m)}(\lambda x)} - \frac{H^{(m+1)}(x)}{H^{(m)}(x)} \right].$$

If either $\lambda \geq 1$ and $0 < x \leq y$ or $0 < \lambda < 1$ and $-1 < x \leq y < 0$, then we obtain $G'(x) \geq 0$ since $\frac{H^{(m+1)}(x)}{H^{(m)}(x)}$ is increasing. Thus G(x) is increasing. Hence in either case, we have $G(x) \leq G(y)$ which gives (19). Likewise, if either $\lambda \geq 1$ and $-1 < x \leq y < 0$ or $0 < \lambda < 1$ and $0 < x \leq y$, then we obtain $G'(x) \leq 0$ which implies that G(x) is decreasing. Hence we have $G(x) \geq G(y)$ which gives the reverse of (19).

Theorem 2.9. Let $m, u \in \{2k : k \in \mathbb{N}_0\}$ and $m \ge u$. Then the Turan-type inequality

$$\exp\left\{H^{(m-u)}(x)\right\} \cdot \exp\left\{H^{(m+u)}(x)\right\} \ge \left[\exp\left\{H^{(m)}(x)\right\}\right]^2,$$
(20)

holds for $x \in (-1, \infty)$.

Proof. Let $m, u \in \{2k : k \in \mathbb{N}_0\}$ and $m \ge u$. Then by using (4), we obtain the following estimation.

$$\begin{aligned} &\frac{H^{(m-u)}(x)}{2} + \frac{H^{(m+u)}(x)}{2} - H^{(m)}(x) \\ &= \frac{1}{2} \left[\int_0^{\frac{\pi}{2}} (\ln \cos t)^{m-u} \cos^x t \, dt + \int_0^{\frac{\pi}{2}} (\ln \cos t)^{m+u} \cos^x t \, dt \right] \\ &- \int_0^{\frac{\pi}{2}} (\ln \cos t)^m \cos^x t \, dt \\ &= \frac{1}{2} \int_0^{\frac{\pi}{2}} \left[\frac{1}{(\ln \cos t)^u} + (\ln \cos t)^u + 2 \right] (\ln \cos t)^m \cos^x t \, dt \\ &= \frac{1}{2} \int_0^{\frac{\pi}{2}} \left[1 + (\ln \cos t)^u \right]^2 (\ln \cos t)^{m-u} \cos^x t \, dt \\ &\geq 0. \end{aligned}$$

Thus

$$\frac{H^{(m-u)}(x)}{2} + \frac{H^{(m+u)}(x)}{2} \ge H^{(m)}(x),$$

and by taking exponents, we obtain the result (20).

Theorem 2.10. Let $m \in \{2k : k \in \mathbb{N}_0\}$. Then the inequality

$$H^{(m)}(x+y) \le H^{(m)}(x) + H^{(m)}(y), \tag{21}$$

holds for $x, y \in [0, \infty)$. In other words, $H^{(m)}(x)$ is subadditive on $[0, \infty)$ if $m \in \{2k : k \in \mathbb{N}_0\}$.

Proof. Let a > 1, b > 1 and $\frac{1}{a} + \frac{1}{b} = 1$. Then by the Hölder's inequality, we obtain

$$\begin{aligned} H^{(m)}(x+y) &= \int_0^{\frac{\pi}{2}} (\ln\cos t)^{\frac{m}{a} + \frac{m}{b}} \cos^{x+y} t \, dt \\ &= \int_0^{\frac{\pi}{2}} (\ln\cos t)^{\frac{m}{a}} \cos^x t \cdot (\ln\cos t)^{\frac{m}{b}} \cos^y t \, dt \\ &\leq \left(\int_0^{\frac{\pi}{2}} (\ln\cos t)^m \cos^{ax} t \, dt \right)^{\frac{1}{a}} \left(\int_0^{\frac{\pi}{2}} (\ln\cos t)^m \cos^{by} t \, dt \right)^{\frac{1}{b}} \\ &= \left(H^{(m)}(ax) \right)^{\frac{1}{a}} \left(H^{(m)}(by) \right)^{\frac{1}{b}}. \end{aligned}$$

That is

$$H^{(m)}(x+y) \le \left(H^{(m)}(ax)\right)^{\frac{1}{a}} \left(H^{(m)}(by)\right)^{\frac{1}{b}}.$$
(22)

Then by the Young's inequality:

$$u^{\frac{1}{a}}v^{\frac{1}{b}} \le \frac{u}{a} + \frac{v}{b},$$

1

where $u, v \ge 0$, a > 1, $\frac{1}{a} + \frac{1}{b} = 1$, we obtain

$$\left(H^{(m)}(ax)\right)^{\frac{1}{a}} \left(H^{(m)}(by)\right)^{\frac{1}{b}} \le \frac{H^{(m)}(ax)}{a} + \frac{H^{(m)}(by)}{b}.$$
(23)

Furthermore, since a > 1, b > 1 and $H^{(m)}(x)$ is decreasing for $m \in \{2k : k \in \mathbb{N}_0\}$, we have

$$\frac{H^{(m)}(ax)}{a} + \frac{H^{(m)}(by)}{b} \le H^{(m)}(x) + H^{(m)}(y).$$
(24)

Finally, by combining (22), (23) and (24), we obtain the result (21). \Box **Remark 2.11.** If x = y in (21), then we obtain

$$H^{(m)}(2x) \le 2H^{(m)}(x).$$
(25)

By repeated applications of (21) and (25), we obtain

$$H^{(m)}(nx) \le nH^{(m)}(x), \quad n \in \mathbb{N},$$
(26)

which implies that $H^{(m)}(x)$ is \mathbb{N} -subhomogeneous for $m \in \{2k : k \in \mathbb{N}_0\}$.

Remark 2.12. Note that $H^{(0)}(n) = I_n$ for $n \in \mathbb{N}$. Then as a special case, by letting $m = 0, x = r \in \mathbb{N}$ and $y = s \in \mathbb{N}$ in (21), we obtain

$$I_{r+s} \le I_r + I_s,$$

which implies that the Wallis' sequence I_n is subadditive.

Theorem 2.13. Let $m \in \{2k : k \in \mathbb{N}_0\}$. Then the inequality

$$H^{(m)}(x)H^{(m)}(y) \le C_m H^{(m)}(x+y),$$
(27)

holds for $x, y \in [0, \infty)$, where $C_m = \int_0^{\frac{\pi}{2}} (\ln \cos t)^m dt$. Proof. Let T be defined for $m \in \{2k : k \in \mathbb{N}_0\}$ by

$$T(x,y) = \frac{H^{(m)}(x)H^{(m)}(y)}{H^{(m)}(x+y)}, \quad x,y \in [0,\infty),$$

and let $\delta(x, y) = \ln T(x, y)$. With no loss of generality, let y be fixed. Then,

$$\delta'(x,y) = \frac{H^{(m+1)}(x)}{H^{(m)}(x)} - \frac{H^{(m+1)}(x+y)}{H^{(m)}(x+y)} \le 0,$$

since $\frac{H^{(m+1)}(x)}{H^{(m)}(x)}$ is increasing (see Corollary 2.7). Thus, $\delta(x, y)$ is decreasing and consequently, T(x, y) is also decreasing. Then for $x \ge 0$, we obtain

$$\frac{H^{(m)}(x)H^{(m)}(y)}{H^{(m)}(x+y)} \le H^{(m)}(0) = C_m,$$

which gives the result (27).

3 Open Problem

Is there an explicit expression for the function

$$C_m = \int_0^{\frac{\pi}{2}} (\ln \cos t)^m \, dt, \quad m \in \mathbb{N}_0,$$

in terms of other special functions?

ACKNOWLEDGEMENTS. The author is grateful to the anonymous referees for thorough reading of the manuscript.

References

- M. Abramowitz and I. A. Stegun (Eds), Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, National Bureau of Standards, Applied Mathematics Series 55, 10th Printing, Washington, 1972.
- [2] J. Choi, Log-sine and log-cosine integrals, Honam Math. J., 35(2)(2013), 137-146.
- [3] I. S. Gradshteyn and I. M. Ryzhik, *Table of Integrals, Series, and Products (7th Edition)*, Edited by D. Zwillinger, Academic Press, USA, 2007.
- [4] B.-N. Guo and F. Qi, On the Increasing Monotonicity of a Sequence Originating from Computation of the Probability of Intersecting between a Plane Couple and a Convex Body, Turkish Journal of Analysis and Number Theory, 3(1)(2015), 21-23.
- [5] B-N. Guo and F. Qi, On the Wallis formula, International Journal of Analysis and Applications, 8(1)(2015), 30-38.
- [6] D. K. Kazarinoff, On Wallis' formula, Edinburgh Math. Notes, 40(1956), 19-21.
- [7] K. Nantomah, Monotonicity and convexity properties and some inequalities involving a generalized form of the Wallis' cosine formula, Asian Research Journal of Mathematics, 6(3)(2017), 1-10.
- [8] F. Qi, Bounds for the ratio of two gamma functions, J. Inequal. Appl., 2010 (2010), Article ID:493058, 84 pages.
- [9] F. Qi and M. Mansour, Some Properties of a Function Originating from Geometric Probability for Pairs of Hyperplanes Intersecting with a Convex Body, Math. Comput. Appl., 21(3)(2016), 6 pages.

- [10] Qi F, Mortici C, Some best approximation formulas and inequalities for the Wallis ratio, Applied Mathematics and Computation, 253(2015), 363-368.
- [11] F. Qi, C. Mortici and B.-N Guo, Some properties of a sequence arising from geometric probability for pairs of hyperplanes intersecting with a convex body, Comput. Appl. Math., 37(2018), In Press.
- [12] E. W. Weisstein, Log Cosine Function, From MathWorld–A Wolfram Web Resource, Available from: http://mathworld.wolfram.com/LogCosineFunction.html, (2011), Date Accessed: 04 August, 2017.